Example 16.5
An [-beam with a cross-section shown is subjected to axial and transverse loads at its

right end. Determine the principal stresses in the beam at B. Use: A =12 in and

tfzthlin.
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Usig FBD OF € fore Hlarm :
2. Fc= —CG< +2 =0 = Gec= 2R

SMo= D@ -—@P(z)=0 == B =CkP
2 FRy= Cy+rD,—4 =0 = Cy=—-2'l‘z"/’3

Using FED of cut Sectsom .
S My =~ cy@—) —M =0 = M= 8 kip- f£=9Ljpin

S A= —GetF=0 = F= 2R
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w/ T = 2" area rmomef oF Cross —secsson
A= area af oSS —Secoon

A¥= bty

¥ = QJ—-’%‘ g 6= Lw

Stresses due to combined loadings Topic 16: 12 ME 323 — cmk



